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Task — Fractions Pt 1 Name:
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In the following grid, shade in the given fraction amount. (2 marks)
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Write the following fractions in LOWEST TERMS. (K - 4 marks)
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Find a common denominator and evaluate the following leaving your final answer in lowest
terms: (K — 10 marks)
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Math Task — Fractions Pt 2 Name: éo ( n_

5. On the strip provided, illustrate how many “quarters™ fit into the entire length. Verify your count
with calculations. (4 marks)
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6. Evaluate the following multiplication and division problems leaving your final answer in lowest
terms: (K — 10 marks)
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7. Jim was making a birthday card for his friend. He wanted to put a fancy border around the edge of
: . (i : g
the card. The card dimensions are 45 inches wide by 6% inches tall. How much of the fancy

border material does Jim need to go around the entire outside of the card? (4 marks)

i
" & L R
20 +& +7 i
a5 .20 +X+3d +grd
- 20+ &
i on el ¥ g




Math

Task — Equations Name: 46 ( V\"
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Solve each of the following equations, be sure to show your opposite operation use: (K — 9 marks)
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Solve the following multi-step equations. Show your work for complete marks. (13 marks)
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Math

Task — Ratios and Rates Name: ; o ( .

. Write the following standard ratios in fraction form (2 marks)
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Write the following fraction ratios in standard form. (2 marks)
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Determine the missing value in the following proportions (4 marks)
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Determine the missing value in the following proportions (4 marks)
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A used car store has a ratio of 12 cars to 15 trucks; if the entire inventory of the used car store has
the same ratio of cars to trucks, how many trucks are in their parking lot if they have 216 cars? (3

marks)
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Math Task — Fractions/Integers/Percent : §°( i

Name

1. Fill in the missing values. Be sure to use lowest term fractions. (K — 12 marks)
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2. Determine the desired value for the following: (App — 4 marks)

(a) 75% of 210 is? (b) 52 is 60% of what number? (careful)
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3. 1f 27 out of 37 dentists recommend SuperTooth toothpaste; what percentage of dentists
recommend the toothpaste to patients their patients?
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4. 75% of houscholds have a computer. How many computers are in a town with 45,000 houses?
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